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ACCOUNTING AND FINANCE

Paper - I (Cost Accounting)

Time Allowed : Three Hours Maximum Marks: 100

_ Part-A ( ¥RT-37) [30 Marks]
i 78 wET % SR AT | 72w T F W 50 YD) | 3fe TE g =fen
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Part-B( %II"T-_ q) [25 Mar ks] .
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Part-C ( WIMT-¥/) . [45 Marks]
mmﬂwmgﬁﬁ@,wiﬁwmaﬁﬁqmﬁmmaoomﬁﬁ
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Part-A (Compulsary)

- WRT-31 ( SAfad )
Q.1 What do you mean by cost centre and cost unit? [3]
AT ¥ Td T 3 Y ST 1 A € 2
Q.2 Write a short note on ABS analysis of inventory control. [3]

=y a3 ABC favergo dom w ik feomit fafag
Q3. Ascertain the amount of Bonus and total wages under Emerson plan.

mm#mmﬁmamww@ﬁuﬁrmmu

Standard output in 10 hours 120 units
Actual output in 15 hours 198 units
Wages as Rs. 25 per hour - . [31
Q4. Explain in brief over-absorption and under - absorption of overheads.
[3]

W#Wawmﬁaﬁwﬂﬁmﬁma

A factory has received an order for the supply of the three different
types of coasting weighing respectively 18,45 and 27 Tonnes. 10%
of the raw materials used are wasted in manufacturing and sold as
scrap at 20% of the cost price of raw materials. The cost of raw
materials is Rs. 250 per ton. Find out the total cost of raw materials or
each type of coasting. [3}
wt@ﬁﬂ?ﬁﬁﬂmaﬁaﬁaﬁ@‘@aﬁwaﬁmmﬁ%
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Q6.  Distinguish between job coasting and contract coasting.  [3]
39 AT Fuio faft e S arma Fruio fafy F S Sa=Ra
Q.7. What do you understand by 'absolute ton kms' and 'Commercial ton

kms? K)|
"oy =7 ReeiieX” aun ‘ anfrae o1 Rrrfiet {30 F TR €2
Q8.  What is meant by Equivalent Production? 131
TESUAA A RN AR ?
Q9.  Differentiate between By-Product and Joint-Product. [3]

IY-IARA A HYH UG A HaX JazC |
Q.10.  Give journal entries for the following under Integral System of
Accounting. . . [3]
T T voneR ¥ il Frafafad wi sre wfatE s
@ Purchase of material on credit Rs. 2,00,000
(®) - Issueof material to production  Rs. 1,65,000
Part-B (Compulsary)

yr-§ ( ) |
Q.11.  From the following information calculate | [5]
@  EOQ .
®) No. of order per year
(©) Time between consecutive orders. | L
§)) Annual consumption 800 units
(ii) Cost per unit | Rs. 30
(iii) Cost of placing ag'order |
@iv) Annual return on investment 10%
per annum |
(vi) Rent and insurance €Xpenses Rs.1
per year
e gEBH A T HHIE
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(iii) T IAME A F Fha %. 100
(iv) i SFa WaY 10%
(v) o fan @ s g .1
- Q.12. What is meant by overtime? Discuss its treatment in cost
accounting. : [5]
SAfiraTg | 1 o # 2 @ aEl ¥ T qaied S faae
Hifs
Q.13.  The production cost of 1,000 units of an article is as follows :
(5] |
Materials Rs. 12,000 !
Wages , Rs. 8000

Overheads (fixed and variable) ~ Rs. 6,000
The company produces 8,000 units and sells at Rs. 25 each,

making a profit of Rs. 20,000. Find out amount of fixed and

variable overheads respectively.

T g 1 1,000 FHEA F SN T FAATER E:
e ¥. 12,000

a1 ¥. 8,000
SufeEa %. 6,000

mﬁa,mw@ﬁwmmﬁ%aﬂusamﬁnﬁm%
f'saﬁﬁaaafﬁ%amzo,oooamm*éumqaqﬁaﬂmﬂa
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3qfregdl %t FAw: U I Fie |

Q.14. Prepare normal wastage and abnormal wastage/ effective a/c

| from the following : , 51

frofafiad & T 4 991 SO 9/ 94 G TR BT
Transfer from process'I 1,000 units @ 9 per unit
Material used in this process ' Rs. 13,000
Labout Rs. 3,750
Overhead (Factory) Rs. 1,500
Actual output 920 units
Normal loss 10% of input, sold at rs. 2.50 per unit as scrap.

Q.15 Adcity municipality arranges for the removal of its garbage by
means of motor vehicle transport. The following vehicles are
maintained. |
wmaﬁmﬁmw—wm%mﬂamﬁaﬁ
FIqH ’ .
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¥ 1 T e 3y Prefafar et e & 0 0 0 7 [8)
~migal sl 9E&r faagor
40 52 M
50 , 4 =7 T
20 3 TRl
20 2 ZA S

on an average each lorry makes 4 trips a day and each trip covers an
average distance of 20 km. Each lormry carries garbage weighing only
60% of its capacity. 10% of the lorries are laid up for repairs every
day. Assuming that a month consists of 30 days. Calculate total ton
km for a month.
mﬁﬂﬁmmwuﬁiﬁqm?ﬁ%amuﬁrwﬁ 3G 20
fop ). 3 g T R ¥ | el Y ST S ¥ 60% TR & et
| St il 10% AR wemra ¥g T et € 19w 9 g fr TR
30 i = €, W' & foe 3t o= .t 9w wifs
Part-C/ HIT-9

Unit-I/3a3g-1 ;

Q.16.  Explain the various methods of pricing the issue of material with
suitable examples. [15]
Eﬂfﬁﬁm#@fmaﬂﬁﬁﬁﬁﬁzﬁﬂwwﬁm

THARY |

OR ( 31972 )

Q.16.  During one week the workman Z manufactured 200 units. He received
wages for a guaranteed 44 hours week at the rate of Rs. 15 per hour.
The time allowed to produce one unit is 18 minutes. Calculate his
gross wages under each of the following melhods of remunerating
labour. [15]
A SIS T UH AR H 200 7HET 9 | I RS I 44 62 F
waTE % foTe 15 %. Wi S o6t X @ 7ol Ve 1 | U 3 ® 9 ¥
fore 18 forme =1 T T <t 1 i =t wiftafies 33 <6t Freafafad
faferdi § @ Wl % Siia Soa Gohe e 9 SR
@ Time rate
®) Price rate with guaranteedweekly wages
©) Halsey premium plan 50% Bonus
(o)) Rowan premium Plan
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Unit-IV 3E-11

Q.17. A factory can produce 2,40,000 units per annum at 100% capacity.
The cost of production is estimated as follows: [15])
T FREHT 100% &1 T 2,40,000 FHTEAT 1 FRIard Ieare T §hell & | A BT
[SINCE RIS B C 0 Wﬁmm% :
Direct material Rs. 6 per unit
Direct Labour Rs. 4 pee unit (Subject to a minimum of Rs. 48,000
per month) - -
Fixed overheads Rs. 3,20,000 per annum

Variable overheads Rs. 4 per unit
Semi variable overhead Rs. 1,20,000 p.a. up to 50% capacity and an
additional Rs. 40,000 p.a. for every 20% increase in capacity or a

part there of. o
Scrap resulted from each unit is sold at 40 paisa. In 2015 the factory

worked at 50% capacity for the first 3 months but it is expected to
work at 80% capacity for the remaining 9 months.
The selling price per unit was Rs. 24 during the first 3 months. What
price should be fixed for the remaining 9 months to yield a total
profit of Rs. 4,36,000. http://www.rtuonline.com
e TS R WTH e A 40 3 ¥ e ya a9 2015 F
o A e R Y 50% &a1 W) fa, Afe sn St
3 fip 99 9 TR F A 80% &al W HE T
or T B o e 24 T, W T o119 9 W % ferg @
fasra wea Trwifia faram Sme 16 35 4,36,000 T 3 ey

. QR ( 3war ) ' |
Giving your view regarding justification in charging profit on
complete contract, explain the methods of charging profit on

incomplete contract. [15])-
mﬁmmwmﬂwﬁﬁw%WHﬁmmmm

TY méﬁwmwaﬂ%aﬁﬁ&xﬁmaﬂhﬁﬁﬂm

Unit-TI/ 3E-1I1
Explain normal wastage, abnormal wastage and abnormal effective.
How should these be dealt with in process accounts? [15]
AT &, FEHT &9 a ST = Y TAEY | WfsRa @ H

=% Y 5 aen e s € ?

Q.17.

Q.18.
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Q.18.  The net profit of Balaji Limited shown by cost accounts for the year
ended 31* Dec 2015 was Rs. 6,70,000. A security of the figures of
the financial accounts and the coast account revealed of the following
facts: . [15]
31 fearag, 2015 = T 2R 9 o ¥ wrra ol X awst fafies =
TS @Y 6,70,000 fe@ran | fa=ita @@l 9 @ or@l &1 sie A = o

:i_ A 3
) Works overheads over - absorbed incost 20,000
accounts
(i) Administration overheads under - 15,000 -

absorbed in cost accounts
(iii) Depreciation absorbed in cost accounts 1,70,000

(iv) Depreciation charged in financial 2,00,000
accounts | |
V) Loss due to obsolescence charged in 10,000 \
financial accounts
(vi) Interest on investments included 20,000
in financial accounts only L
(vii)  Bankinterest (Cr.) 4,000
(viii)  Under - evaluation of opening stock in 2,000
cost accounts

Prepare a statement showing reconciliation between the figure of
net profit as per cost accounts and figure of net profit to be calculated
for the financial accounts as per reconciliation.
ﬁiﬂqmaﬁmaﬂ%mﬂa‘fmmm!ﬁmmﬁ?ﬁﬂ
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